SANKAKU PUZZLES BY NAOKI INABA

On each grid, connect three dots to form a triangle with the specified area.

3 x 3 Grids
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3 x 3 Grids, cont.

SANKAKU PUZZLES BY NAOKI INABA
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4 x 4 Grids, cont.

Areaq

||||||||

Areq

|
|
1——8-—@ ——1-- e r -——-1—-9—-@
| o | o o
~—-¢--1—1-—4 O r-—@--1---8--1 T S N S ¢
| Q0 | 0 O
DR S S 1< -I._f ....... 1< B S S ¢
Ll .
............ * - EETEESEEEERY SEEY @
| _ | |
lllllll E N e e e | B m S S
| _ |
I | | b

SANKAKU PUZZLES BY NAOKI INABA

- -

—9

e

Area = 1|

S —

P—

=4

Areg

R S S S—

B 4

T U

I._.__._._
.

3

Areq

Ared = |




.
.
=8
= 4
-_,_

Areq

Areaq

4 x 4 Grids, cont.
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